FINEY-UYTAFTRAERE/ (-
SXT-ANG-GB2-F

Art.-Nr.: 10.07.13.00121

P
SCHMALZ
S

shEH

Bt |
] FIVE
FHLY ARY

SXT-ANG-GB2-F

F7REERAE/)N—Y SXT-ANGIZEROHBE UL THREINET,
HFET7RAEAEN-VIZ. TERRBLEHFSDOETERLET,

o FTXAEFHARE/(—Y SXT-ANG-M (¥ L —/%IVEFO BEN): 7Y 5 7 SXT-CON-GB-F (R®/RIVEUTOA ARY) £llEF
FRIERY S5 7 SXT-EXT-GB

o FTRABERE)—Y SXT-ANG-F (R&/RXVEUTA ARY): FF7RY 5> 7 SXT-CON-GB-M (7 L —/ K IBF O Bi@N)

e BUTA7 YUY R RY. Dyyv—, ATUVY

— —r
L FHIVFT—4
L2 D
LA A A AL L aaaa st aaaa ) Bt {iti &

o~ F Ty N—DEE L2 25.00 mm

B 3 1w e
E / - ZJJ}\ NDEREL 42.50 mm
> B H2 25.00 mm
3 BEH 42.50 mm
3 ] sM2D 35.00 mm

ALy EG1 M8-F
B
b
b
B
P
b
1
FHA VT —% SXT-ANG-GB2-F
(©  WWW.SCHMALZ.CO.JP/10.07.13.00121 1

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp



PIWZY-UVTRAFTRAEERE/-Y

SXT-ANG-GB2-F ——

- - - ———
Art.-Nr.: 10.07.13.00121

(W) s#Es

Bt |fifE

g8 90.0 g

e I

HqRIFIU— SXT

FHIY ARY

Q@ zowous

COREICATZCADT—9E LUV TOMOERIT. UTFESEOZ L : www.schmalz.co.jp/10.07.13.00121

% T=AT7OYU—-%&EXT 3 10.07.13.00121

Typ WRI-R
B (F7 ) SXT-CON-GB-M-A3 10.07.13.00118
B (F7HE) SXT-CON-GB-M-A5 10.07.13.00119
B&G (F7HE) SXT-CON-GB-M-D25 10.07.13.00112
B (F7HE) SXT-CON-GB-M-D40 10.07.13.00113
B (F7HE) SXT-CON-GB-MO-D40 10.07.13.00116
#G (F7HE) SXT-CON-GB-MO-1.5IN 10.07.13.00117
IVATFYY Iy (F7E) SXT-EXT-GB2-50 10.07.13.00034
Bty SET SCHRAUBE FED-SCHE M8x25 10.07.13.00172
vty SET SCHRAUBE FED-SCHE M8x50 10.07.13.00175
Bty b SET SCHRAUBE FED-SCHE M8x55 10.07.13.00176
Bty b SET SCHRAUBE FED-SCHE M8x60 10.07.13.00177
Bty SET SCHRAUBE FED-SCHE M8x65 10.07.13.00178

(©  WWW.SCHMALZ.CO.JP/10.07.13.00121

JaARIVWICEREE © ¥ avIVIYKRAET « R/ REEHEHX KHHET3001-7 « +81 45 565 5150 ¢ schmalz@schmalz.co.jp


https://schmalz.saas.contentserv.com/www.schmalz.co.jp/10.07.13.00121

